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Z oM =t
zollesd ¥ A8
HAUE NHR+5HEUSY 2 ER-ED
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
OFANLSE UHEZ 1,200,000& 1,200
Ogstze = 1,800,000 1,800
O&=J & dld2elbl 1,400,000& 1,400
02 =224l 80,850 80,850 0
ORER=s & AdESE = 300,000& 300
OX g =Xt 5,000,000& 5,000
O&Il=z 30,000,000& 30,000
O&Jletd & s2J1 & wXAH  10,000,000& 10,000
OS2 & A%t 550,000& 550
Od2 € AIZ&d RA 20,000,000& 20,000
O&AIE A2l 15,000, 000& 15,000
03 &AL Z I 20,000 18,000 2,000
Oogtsa #2580 S & 20,000,000& 20,000
202 O4dl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
OZstegtsa P23 & a8
2,000,000& 2,000
a8tz AIdE> 28,000 253,000 A 225,000
206 M= Hl 6,000 6,000 0
01 =8l 6,000 6,000 0
OXZE 435 2 HIE? 3,000,000& 3,000
O&AA & OFAHAE 3,000,000& 3,000
401 AIEBIZ 201 8] 22,000 247,000 A 225,000
01 A& Bl 22,000 247,000 A 225,000
OEstet=2 OFA T AN el
22,000,000& 22,000
s+ HE2 HE M==AY 49,244 0 49,244
401 Al HI 22 OHYI 49,244 0 49,244
01 A& HI 49,244 0 49,244
Odstet=2 8 ol = 49,244,000 49,244
IHFASY (NAL50E BAE SHAY) 27,800 31,333 £3,533
< 8,340
Al 19,460
201 Let249] 27,800 31,333 A 3,533
< 8,340
Al 19,460
03 A2 Z HI 27,800 31,333 A 3,533
ogtEa J1= AAlsl M=l 27,800,000& 27,800
< 8,340
Al 19,460
SR o2 2el 1,440,997 1,407,968 33,029




23t S ot
Estll=sd & &=
FI=2 ool 2el (22 &d)

SA - BB B (EH) - NRAY - BES of & o SSa HI D2
=2 deoznsd 29 506,846 420,318 86,528
101 212 8| 46,302 0 46,302
04 JIZtNZ22XNSE+ 46,302 0 46,302
ooglolersa #A Q2 (ap]) 23,151
-Jles 1,745,150 x2E «6& 20,942
—HEAs 112,860& 22 x6E 1,355
-HRERIGE 71,120 x2F 6 854
Oolgloletsa A 2 (5HEHI) 23,151
-Jl23 1,745,150 x2F «6 & 20,942
-d4EA=s 112,860& 22 «6E 1,355
-HRERIeE 71,1203 x2F 6 854
201 LEt2E | 428,044 400,068 27,976
01 AtR 22l | 167,980 138,300 29,680
ooelolr=a 29 99,680
-2 gh== 2 H| (POOL 50,000,000& 50,000
A=A HE N& . E2s8357Y
10,000, 000& 10,000
“HARABHAABE S A 470,0008 «122 5,640
-EAMNAS EE 270,000& =123 3,240
-d8=0 & 3J1FE0 .80 X2
1,100,000 x12& 13,200
-olgoleEd 82 29 5,000
S2=3 WA 5,000,000& 5,000
“BYE(3IS,38) 22 +42
12,600,000& 12,600
Ooglolzt=a =23ta s 65,000
-SE2 2SaE(108) M 60,000,000 60,000
- (2E) M 5,000, 000& 5,000
Oagord getate] ===  3,300,000& 3,300
02 3324l 241,064 229,768 11,296
OV=tlg , s2IIH SN E AHUASE
S 1,200,000& 1,200
OZMHOoIX sXl2el 6,000, 000& 6,000
OANH X2 2,000,000& 2,000
Ogsty & sty KX2el 5,500,000& 5,500
OCCTVAIAE! S X 2tel 10,000,000 10,000
Oxt& = Xl 5,000,000& 5,000
o&lIes 50,000,000& 50,000
OEAMIAR 23,000,000& 23,000
O& - dt+=& 9,000, 000& 9,000
O& It 2t 5,000,000& 5,000
OsdJl & 6,000, 000& 6,000




2AM: 2=
N 2s0sg8 ¥ AE
Sl HIISE QROIUSE e (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O&Al4 ¥ =06 B2 500,000& 500
OHE L AMEEHH RAX 20,000,000& 20,000
O&NAIZE SAE2H| 45,200,000 45,200
O=2I)1E28482 AHHA Ol8s
608,870& x12& 7,307
OQUERZR HUILXS(AAX Zdl)
54,6703 x12& 657
OgHANAE OlsE 1,100,000& x12& 13,200
Ot AUAFA 30,000,000& 30,000
O=283 34 1,500,000& 1,500
03 & AtE H 19,000 32,000 A 13,000
O3t Aes g 29Y9 19,000,000& 19,000
202 04 d| 3,500 7,000 A 3,500
01 2LHOHI 3,500 7,000 A 3,500
O0eoei22 g42FX L e+ d
,500,000& 3,500
206 M=l 4,000 7,000 A 3,000
01 & bl 4,000 7,000 A 3,000
OXFEEAYE & Hlgxy 2,000,000& 2,000
O&AIA L OFEAE &2 F2¢ 2,000,000 2,000
207 A FIH | 10,000 0 10,000
02 & AR EHH| 10,000 0 10,000
OJIa8 &l (VR) 2E = M 10,000, 000& 10,000
PR 15,000 0 15,000
Al &l 15,000 0 15,000
ogtga & 22| 15,000,000& 15,000
IS8 HeElolgt=2 sog:R 934,151 987,650 A 53,499
28t 2 A Y| 289,500 312,550 N 23,050
AP 22| B 257,000 312,550 A 55,550
OoogloleEa &Al 140,000
—AE XA 120,000
MEX oM ¥ A2EFP
10,000, 000& 10,000
ZE=x JfH 110,000,000 110,000
-CHIolE 249 20,000,000 20,000
oogloleEx MEgn=s 111,000
-H0oF T2 8,000,000& 8,000
-Green Kids T2 ] & 12,500,000& 12,500
-School T 2 1) &4 18,000, 000& 18,000
-FAIIE T2 )M 21,500,000 21,500
-SY Tz ¥ 51,000,000& 51,000




SN 2SASD
MM 2308 L AE
©el: FIISR olglolEe e EEH-E)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
SEENEEENEE 6,000
-eses 2y 10,0002 *15% 23| 3,000
~0{2I0l Y MIEHEEZX 29 3,000,0008 3,000
02 22| 2,500 0 2,500
Ostz a3l 1,500
-SEe 2R s 300,0008! 300
~EH 22 1,200,000% 1,200
OeBE 2 1,000,000 1,000
03 A2 | 30,000 0 30,000
O #A 30,000
SO{RIOIS S IERUSR 30,000
(010l &) 20,000,00094 20,000
OIS (0I5 o) 10,000,0002 10,000
202 01| 4,000 0 4,000
NETET 4,000 0 4,000
OSNYLEN ¥ R2+F 4,000,000 4,000
301 YA 12,000 7,000 5,000
09 BALAHI 242 3,000 1,000 2,000
ORI Z AR 28t 1,000,000 1,000
OXRAEANT 2 2,000,0008! 2,000
12J1EH 243 9,000 6,000 3,000
OXEZ A AHIXNS 10,0002 %302 *302 9,000
307 212+0| & 628,651 668, 100 £39,449
05 212te e 2 628,651 668, 100 139,449
OelefIe oAUl (17%) 628,651,000 628,651
SIWLR L BE 390,964 497,104 A 106, 140
= 6,132
< 77,946
Al 306,886
S RRz ¥ 29 344,364 449,304 104,940
=2 6,132
< 75,066
Al 263, 166
BHERN 22 21,000 21,000 0
201 2Bt Y| 1,000 1,000 0
01 At 22l 1,000 1,000 0
OBESHMBSANS sloABaLY
100, 000! *5% x23| 1,000
401 Al HI L = Tl 20,000 20,000 0
01 Al Hl 20,000 20,000 0




fAM: 2=
FM: FoMg=E € BE
&?: 23 sX2e ¥ 23 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OERZA 2el ¢ FHI(10Ha)
20,000,000& 20,000
SEANZZ 2F 18,000 21,000 A 3,000
201 £B-2dH| 12,000 15,000 A 3,000
01 At 22l 5,000 5,000 0
Oget==EH| 5,000,000& 5,000
02 2324l 7,000 10,000 A 3,000
OMIIRa &8 1= 7,000,000& 7,000
301 LA Z 6,000 6,000 0
12 JIEBtE& = 6,000 6,000 0
OHEANZZ NJASAX 24
10,000& »2H 300 6,000
S M2 29 53,100 30,000 23,100
201 Let2d] 12,000 12,000 0
02 23=24gHl 12,000 12,000 0
Od=2 X2l 1,000,000& »12& 12,000
307 gl2tol & 17,100 18,000 A 900
02 IZtE M AHE X 17,100 18,000 A 900
o=z 299 17,100, 000& 17,100
401 Al BIZ 201 8] 24,000 0 24,000
01 A& HI 24,000 0 24,000
ORAxat =T AL 24,000,000 24,000
Y LTHAIAE SXE= 12,264 13,304 A 1,040
= 6,132
< 3,066
Al 3,066
402 RI2tX20l ™ 12,264 13,304 A 1,040
= 6,132
< 3,066
Al 3,066
02 It 2 AL EZ(OI X THS) 12,264 13,304 A 1,040
ONdSAE YMAIAE X2+ 12,264,000 12,264
= 6,132
< 3,066
Al 3,066
HdSAE EFHl ALY 240,000 180,000 60,000
< 72,000
Al 168,000
402 RI2FX=201 M 240,000 180,000 60,000
< 72,000
Al 168,000
02 QI EAILSEZ (OIS ) 240,000 180,000 60,000




EX: S3Hs
HHM: BSME=Z2 L 2=
e 23 SX2e € 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ONEAMNE BELFH ME(ETFH A=FHU|)
240,000,000& 240,000
= 72,000
Al 168,000
Z3M H&sE2s N3 46,600 47,800 A 1,200
== 2,880
Al 43,720
Al PE2M s X 37,000 38,200 A 1,200
307 2Iz2t0| A 37,000 38,200 A 1,200
02 QIZHEAAIRE E X 37,000 38,200 A 1,200
OdtEd =g dSAIY 9,500,000& 9,500
OSSHd 2R HSAY(Al) 12,500,000& 12,500
OO E=S 8sAMY 15,000,000& 15,000
T RYEESM dsg2s X 9,600 9,600 0
& 2,880
Al 6,720
307 2Iz2to| A 9,600 9,600 0
== 2,880
Al 6,720
02 QI AAIE E X 9,600 9,600 0
OEXNAE P2 ds&8s N
9,600,000& 9,600
= 2,880
Al 6,720
N 4 3,173,102 3,734,120 A561,018
= 60,000
J| 181,596
= 87,840
Al 2,843,666
HEAE =4 1,451,400 2,077,500 A 626,100
g 60,000
Al 1,391,400
HEAE Ehl 424,000 447,500 A 23,500
201 et 20,000 15,000 5,000
01 A2t 2| H| 3,500 15,000 A 11,500
OZ2ZHMSAE2(121A) & 2H0| 2= Al A (47
HAa) ARE 22 1,000,000 1,000
ONSAE&E(s30) 2E &Hl xS
2,500,000 2,500
02 2224 H| 16,500 0 16,500
OHEQH NERE Aot Y
2,500,000 2,500
OZ2ZHMSAE2(121A) & 2H0| 2= Al A (47
HA) X2 14,000,000& 14,000
401 Al HI L E0HHI 404,000 432,500 A 28,500




2N 2HMSH
N MsNY |4

&S MSAE =4 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 400,000 430,000 A 30,000
OZ3HSANEE X & HE= 400,000
A (HEX(7H ) 125,000, 000& 125,000
-A0IRSAIE SN2l (47H4)
75,000,000 75,000
~S3MSAE S22 (1200L)
200,000, 000& 200,000
03 A& 2 THHI 4,000 2,500 1,500
O23MsAds 81 £ X222 S
4,000,000 4,000
2BALE FRIHY MSAE(E72E) =4 700,000 0 700,000
401 Al HI K 201 I 700,000 0 700,000
1T AIZHI 700,000 0 700,000
O28ALEE FRIJHY MEANE(572E) 24
700,000,000 700,000
ALSIOL OFRE AlEEE & S22 52,400 0 52,400
201 et 42,500 0 42,500
01 At 2teltl 2,500 0 2,500
OHAEE FLYU(EFA A24) 1,000,000 1,000
Ost&a &z 2¢ 1,500, 000& 1,500
02 2324l 40,000 0 40,000
OAtglol Ot & 338 QB (I, S8, 4dt+&
) S 30,000,000& 30,000
OAZol OF&E AIE&H |22
10,000, 000& 10,000
405 TtHabF S| 9,900 0 9,900
01 AL ESFH SHI 9,900 0 9,900
OWuegrdl 22 (600) 7,000,000& 7,000
Od&ED (1) 800,000& 800
OHA(40) L X (5H) 2 2,100,000 2,100
HSEHEANLE NS (B2 W Z4Z01E 4 200,000 0 200,000
xl)
as 60,000
Al 140,000
401 A& HIZ 2018 200,000 0 200,000
s 60,000
Al 140,000
01 A& HI 200,000 0 200,000
OZSEH2SE W ZAZIE XA (HES)
200,000, 000& 200,000
ras 60,000
Al 140,000
TN 2RS) 75,000 0 75,000




2N 2HMSH
N MsNY |4

&S MSAE =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 75,000 0 75,000
01 A& HI 75,000 0 75,000
OA228 NENEE IEYZE M (BE0I)(
or= 1) BtHEH) 50,000,000& 50,000
O225 88 T4 JtedY &X
5,000,000& 5,000
OARs 138 OIS 232E MEH
20,000,000& 20,000
M=0U3s XA 548,300 537,500 10,800
M=l s8I 298,300 312,500 A 14,200
202 odl 2,500 2,500 0
01 S LHOYI 2,500 2,500 0
OxM=szzE g2 =& 2,500,000& 2,500
307 glz2tol & 295,800 310,000 A 14,200
02 LIt MAMHEE 295,800 310,000 A 14,200
OHM30al Z2IIE ddsisd =d
89,000,000& 89,000
OHMesal ZII& M=sMHs & 80,300,000 80,300
OEXADI & E2&H) 528 MU &
48,500,000& 48,500
O3l & &= 32 MUz &d
42,000,000& 42,000
OdJc Fo dEM=sHa =28
10,000, 000& 10,000
O&dJIx: Zoe M=z & 10,000,000 10,000
OZMe 53 MUz & =03 =8
16,000, 000& 16,000
A MTBOH S JHzl KT 50,000 85,000 A 35,000
307 21201 A 50,000 85,000 35,000
04 DIZHHALALSE E X 50,000 85,000 /35,000
OM13s sSF& 24 MTBCHE JHEl X2
50,000, 000& 50,000
ANZEI =03 iz N2 48,000 48,000 0
307 21201 A 48,000 48,000 0
04 QIZFHALAIH B = 48,000 48,000 0
OAEI MeHSUs SSMHEHES)
48,000,000& 48,000
8.15 Z=018 =303 Mz X2 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OXx64zl 8.15 8= =203 MWzl X2
5,000,000& 5,000




2N
CHSMY |

el

X ZH
S =

Z M = ot

M=z XA

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
203 JH=E K& 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DI2ZHHALALSE E X 10,000 10,000 0
O3.1&8 J|1E 23 Mzl XA
10,000, 000& 10,000
SAMd=AUE HE XH 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
O=24 d=FU3 Mz XN 7,000,000& 7,000
ZII=22 HoE=2UHa Mzl XA 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 QIZFH AL AR 2 & 5,000 0 5,000
OZJ E2X4Y AHoE=USE Nzl XA
5,000,000& 5,000
=M Edgdd tHal Mz X3 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 CIZtHALAIHE E X 40,000 40,000 0
OHMb53 s&& IM EdLAdLdUa Mzl XA
40,000,000& 40,000
SCE sSEH ¥=32=7U3 Wz X 5,000 10,000 25,000
307 21201 A 5,000 10,000 25,000
04 DIV ALAIRI B X 5,000 10,000 A5,000
OHMb53 SEE st 827203 A X
2 5,000,000& 5,000
&AI| BHEIEHUSE Wzl XI& 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
OHM172 &&J] BHESIEWHS JHx XA
5,000,000& 5,000
AlQlstet st0te MSUa Hz(Z2EH) 55,000 0 55,000
201 L2l 55,000 0 55,000
03 A2 Z Hl 55,000 0 55,000
02019 Al2Iste stOE XM=s0al izl
55,000,000& 55,000
SFLE S5F&EM =2 5448 U8 s N 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OHN3sl FSEEsFAEM 83 748 =FU3
W= K& 20,000,000& 20,000
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2N
X ZH -
L= B

el

- _ _ RE]

M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
sHIIE 24 550,000 550,000 0
&Y 254D 550,000 550,000 0
301 Bt A2 550,000 550,000 0]
10 0z=c4 550,000 550,000 0

ONZEH A

550,000,000& 550,000
Al Hss 84 ¢ 623,402 569, 120 54,282
J| 181,596
o=} 87,840
Al 353,966
Al H=3 29 251,126 192,400 58,726
201 et 11,800 8,800 3,000
01 222l 7,800 4,800 3,000
ONM=Ed=E2 3 =g
100,000 *8H x 13| 800
ONM=EAI 222 H 2= 24|
7,000,000& 7,000
02 2324 4,000 4,000 0

OF=E=P = 4,000,000& 4,000
301 Bt A2 5,000 0 5,000
09 HAIAHI 2 A 5,000 0 5,000

M= & A 5,000,000 5,000
307 2iztol & 234,326 183,600 50,726
03 212t 234,326 183,600 50,726
Al H =3 187,726
-0l | 161,563,000 161,563
g &3 N2 11,883,000& 11,883
-HE2d"=2 S 14,280,000 14,280
OAl =3 89 K& 16,000,000 16,000
OMEHEXNECX 89 30,600
-=4AX83 1,650,000 x12& 19,800
-d HZ A 100,000& x9H »12& 10,800
MEHE DA ME2H 15,000 20,000 A5,000
307 2I2t0| & 15,000 20,000 A5,000
04 DI 2HSH A} AL 15,000 20,000 A5,000
OME = A&
15,000,000& 15,000
UCIME X E 109, 152 141,960 A 32,808
J| 54,576
o= 27,288
Al 27,288




2N

Z M = ot

3 MsaY |4
S9l: Al HSS S8 L MBS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 109,152 141,960 A 32,808
J| 54,576
< 27,288
Al 27,288
03 BIAHNHE2IHIEL 109, 152 141,960 A 32,808
OLBIMEN SR A BRI (2SKE)
2,274,000 x4H x 123 109, 152
J| 54,576
= 27,288
Al 27,288
HEAMMEMNSXZA BIX(2SXA) 136,440 141,960 25,520
J| 68,220
< 34,110
Al 34,110
307 glz2tol & 136,440 141,960 25,520
J| 68,220
< 34,110
Al 34,110
03 BIAHMNHE2IHIEL 136,440 141,960 A5,520
OUNESMNMENSXNEI X (2SXH)
2,274,000 x5H 123 136,440
J| 68,220
< 34,110
Al 34,110
MEHSNEN HSHL 10,644 0 10,644
< 5,322
Al 5,322
307 glz2tol & 10,644 0 10,644
< 5,322
Al 5,322
03 BIAHNHE2IHIEL 10,644 0 10,644
OMENMSNEX MM 10,644,000 10,644
< 5,322
Al 5,322
zSA2Z=2Y 54 N 17,040 0 17,040
< 8,520
Al 8,520
307 glz2tol & 17,040 0 17,040
< 8,520
Al 8,520
02 QIZtE M AHEE 17,040 0 17,040
OxzsSA2Z=x2E 2AME S N&E
17,040,000 17,040
< 8,520
Al 8,520
AEZIAM0IEA X 84,000 72,800 11,200
J| 58,800
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25 2

I KA =4
S9l: Al HSS S8 L MBS EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 12,600
Al 12,600
301 LBt A= 84,000 72,800 11,200
J| 58,800
= 12,600
Al 12,600
12 JIEtE A= 84,000 72,800 11,200
OAZ=AX0I2E XSAE (150 )
84,000,000 84,000
J| 58,800
= 12,600
Al 12,600
HHSHAY (2SS 73,880 73,300 580
JI2Z bl (2 S 73,880 73,300 580
28 (2atH S 73,880 73,300 580
201 et d| 17,000 17,000 0
01 AP 22| H| 17,000 17,000 0
OBASE A2 22| ] 17,000,000 17,000
202 o4 | 51,840 48,000 3,840
01 2Ll 51,840 48,000 3,840
OJI2gdL2s0d|(27H) 51,840,000 51,840
203 €2 F=&d| 5,040 4,800 240
04 EANSIELR2F=XH| 5,040 4,800 240
OBAN2EARF=XH|(34Y) 420,000& ~12€ 5,040
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